
I.D.:	42180559

pachet	piese	s

Data
publicarii

05.03.19 Coduri	CPV 16810000-6

Pretul
estimativ:

5.120,10	RON	-	5.120,10	RON 	 	

Descriere: Denumire	Cantitate	CAMASA	108(cilindru	d110CN)	4	SET	GARNITURI	CILINDRU	D110	2	SET
GARNITURI	MOTOR	U650	1	DISTANTIER	CIL.	D110	32	SET	DOP	CHIULASA	+BLOC	1	AX
INTERMEDIAR	31.17.014	MAT	1	GRUP	CONIC	U650	1	ROATA	DINTATA	31.17.115	MAT	1	ROATA
DINTATA	31.17.118	MAT	1	ROATA	DINTATA	31.17.119	MAT	1	ROATA	DINTATA	31.17.116	MAT	1
ROATA	DINTATA	31.17.114	MAT	1	GARNITURA	SASIU	31.25.114	U650	1	PREZOANE	M14.1.5
SCURT	2	PREZOANE	10301272	LUNG	U650	6	SURUB	CAP	HEXAGONAL	M8X30	20	SURUB	CAP
HEXAGONAL	M10X30	20	SURUB	CAP	HEXAGONAL	M12X40	20	GASKET	1	RULMENT	6016-2RS	1
PIULITA	HEXAG.-10	M8	20	PIULITA	HEXAG.-10	M10	20	PIULITA	HEXAG.-10	M12	20	SAIBA
GROWER	O8	20	SAIBA	GROWER	O10	20	PIULITA	AX	INTERMEDIAR	MARE	1	LAVETE	TESUTE	100
PIULITA	AX	INTERMEDIAR	MICA	1	BUCSA	AX	SATELITI	31.24.120


